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(1) One mark will | Q.
et 2bzﬁi aWwarded for every correct answer for post code 21,53 ‘%iﬁﬁd half mark
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Time : 3 Hours

Instructions :

(11) 'chﬁﬂ?ﬁ' the correct Or most appropriate answer from the given f"-'*'w,__;l_'_:__-f?i- to the fﬂuﬁwhlg
questions and darken, with blue/black ball point pen the corresponding digit 1, 2, 3, 4 i
‘the circle pertaining to the question number concerned in the,OMR Answer Sheet,
separately supplied to you. ' <oy

FATauIN QNS @3 L{iﬂ& '955533555 TES* HOGS :):,5.;1&‘53:&3353 QEY TAV Erdod
©08 1,2,3, 4 3 20y OMR ssres, 58506 @8, 50008008 Sopgie HEgs
ar/ersS oS Fowods AR FIArHod VodIB.

. Choose the correct one-word substitute.
One who performs daring gymnastic feats.

(1) Pugilist (2) Conjurer (3), Juggler (4) Acrobat
Z. Choose the appropriate answer. 9 _

______ Bermuda triangle is & % stretch over the Atlantic Ocean.

(1) a,the (2) the, the 3) the,a (4) an.the
3. Choose the correct form of the 1-'erb..

After we had changed the punctuged tyre, we continue our journey.

(L) areableto (2) wer¢abléto (3) wasableto (4) unableto
4. Choose the correct form of the verb.

My friend yisitiag every Sunday when [ was ill.

(1) wasusedto  (2) iswscdto (3) use to (4) usedto

5. Choose the correct forin of the reported speech:
The stranger said, “Can youtell me the way to the railway st ation?”
(J'} The stranger asked mc ‘*’.‘*"hfﬂhﬂl' 1 could tell him the way to the railway station.
(2) The stranger toldme if I did tell him the way to the railway station.
(3) The srm"ﬂ%?ﬁmﬂd me whether I could tell me the way to the railway station.
(4) The stranger asked me whether I can tell me the way to the railway station.
6. Choose thﬂ_.ﬁ%ﬁﬂt form of the rc;:nrtcd speech:
Ravi saidy T have met your brother”.
(1) Ravisaidthat he had metyour brother,
(27 Rayi said that he had met my brother.
(3) R avi said that he has met my hrﬂther. |
(4) Ravi said that he would have met my brother.
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cor the following statement.

7. Choose the correcl ques! ion 145 ? ol
Children like sweets __——— . - (2) st 0
(1) dothey? (4) aren’tthey? N
(3) don’tthey? e
. for the following statement.
8. Choose the correci question 1as ) @
You enjoyed the film __— (2) dpn’t you? | ?
(1) didn’tyou? (4) did you?
(3) doyou? .
| «
9.  What does the sentence imply? : - Q
[ don’t think, Alex is the right person for the Jég' orile
(1) Suggestion - (4) Rebuke*
(3) Compliment R &
10. Choose the correct order of the given jumbled sgtence. g
in government / the essence of / the active participation / democracy is / of the people.
g - T R 4 5
(1. 1,53.4,2F (2)2,4,3,5,1
124 (B 1,5,3,2,4¢

11. Choose the correct order of the given jumbled sentence. |
among the human beings / the capitalist/ healthy relations / does not faster / system of society

1 2 3 4 5
() 2,5,4,31 | £2)02,5,3,4,1
(3) 2,54,1,3 N @ 251,43
12. What does the sentence ungiy’? 1 bl _
If we had implemented rain harvesting a few years ago, we would have avoided the preser
(1) apology ﬂ%l ?uggestiun (3) offer (4) regret
13. Choose the Wﬁh&a! verb.
The police were "~ & without delay by the residents.
(.:? c:}{g 4 G . (2) called out
e (4) called off
4. Groe g prast v
e distrig - : iR .
engindg? collector promised that he would R the allegatmga against |
(l) a0k out (2) lﬂﬂk up (3) lﬂﬁk _into (é) look after

15. Choose the correct angwer

L L ¥.£ l:il*.:..--" {]ld - I
e man P . . 2 ; B
(1) an the ° g the bus stopis A ~ notorious criminal.

% (2) the,a (3). ana- (4) a,the
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; ' ok TS .; u go IDWil.';g?ﬁn thé

river and take a picnic lunch with 1. € s . @ /in

of miles upstre::ﬁ bef: unch i_aﬂl__ 1him, Arthur could not row well, but ie nan: ged to geta couple
i | b out on to the b ar?'lt' Was time for lunch. Then the disaster occurred. Arthur stood up to

pr e uthe unfortunately overbalanced andiipset the boat and both he and

into iver, T
Eve fell into the bt Thf: water wasn’t deep, but it was cold and muddy, and when they had
scrambled out Eve was furioys, %

16. Arthurwasa = ¢ ovford.
(1) Professor (2)Librarian
(3) Student (4) Visitor
17. Whatdid Arthur suggest on the last day of théiterm?
.(/ﬁ - Tohave tea | | (2) To get married
(3) To g(i to a.film « ' (4)_Togoona plicnic

18. How was the weather on the last day 6f the term?
(1) unpleasant N (2) - cold
(3) sultry (4) sunny

19. The boat was upset

Yy Wit (2) Evewasangry with Arthur.
(3) Arthur cmil%ﬁg&kﬁl‘fp balance. (4) Arthur wanted to drown Eve.

which is similar in meaning to the italicized word in this sentence.
s stature b&?:C_E_tll_SEIn_f his invincible courage.
" () Unmanageable (3) Unbeatable — (4) Immeasurable

20. Choose the word,
He could rise to'thi
(1) Susceptible

21.  Choose the word which 1s similar in meaning to the italicized word in this sentence.

.oe 10 their departed leader
Peonle thronged to payhﬂmuﬁze o th R jer. LAtk
( ;lp f_ay;itﬁfg () Tribuie (3) Humility (4) Obedl@E

22. Choose the antonym of the underlined word in the sentence.

There are no permanent gdversaries in politics,
(1) Enemies (2) Detractors  (3) Flatterers
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23 Choose the antonmym of the underlined word in the sentence.
Some democratic countries believe in racial segregation
(1) Integration (2) Separation (3) Superiority  (4)
4. Choose the appropriate preposition, o
Kanishka was initiated Buddhism by the monks
(1) a (2) to (3) in @ !
25, Choose the appropriate preposition.
On secing a robber, the police inspector at once reached
was on the table.
(1) with (2) to (3 fom

26, Choose the meaning of the underlined phrase: \
The project has MEHWMMBW

(1) Fmancial burden
(2) Matter of pride 0

(3) Centre of attraction b

(4) Swong and prestigious

27, Choose the meaning of the underlined p

His trusted friend proved to be
(1) cowardly & (2) lowand mean
(3) ahidden enemy \ (4) apoisonous snake

28. Choose the correct passive fswe sentence:
Look! They have painted the : ]

(¥ Look! the door has med

(2) Look! the doorw

(3) Look! the door is inted

(4) Look!the door painted

fhiii

]
-
¥
= ok L

form of the sentence.

tarted gt India Movement in 1942,

Quitlildia Movement started by Gandhiji in 1942

Ut G Movement was started by Gandhiji in 1942
Quit Inda Movement had started by Gandhiji in 1942

tindia Movement was being started by Gandhiji in 1942

&



Booklet Code | B I

=

-
-‘ =

Thf square of the missing number
-1- ..Q--" 17, .‘}7, 7?5 lST @E&Jgﬁjgﬁi ﬂﬂﬂé ﬁgms ‘ihggzr 5@

2 . ‘ s e )
Oy T R (3) 100 - (4) 196
7. The missing number in the sequence 2. 3.8 63 < *1@%
2,3, 8, 63, ___ SER08, s%005 0wy - D
4.(1) 3969 (2) 3968 (3) 3970 ﬁ' {4) 2463
- . - ‘"‘?G_;{i',_?.‘
33. The mligsm‘g n&mb&r In the sequence 23,28, 38,49,62, . 154
23,28, 38, 49, 62, BHE0", SDoDS $0Bg
_(}J 30 . (2) 82 (3) 7_6 - (4) 70
34. The missin nutilber in the sequence 97, 83, 73:65? ;F ;k*'f‘s
9?1153‘073 1, sHES0, &boaaf&m
(1) 59 (2) 63 3) ﬁ}r - (4) 65
35.  The next pair of letters that follow MN, LO KP,r S
o B s ) — Qe
MN,LO,KP, JQ  &&Had 38 fgg‘ﬂ'qé
4y 1Q (2) AZ ; I.i ;_“(’3) YB 2. 4) Q
36. The missing group of :f;m;r letters i m{-ﬁ?éaucncc BDFH, BEHK, BFIN, Oﬁ:s
BDFH, BEHK, BEIN, BG4 L w0, S*H0DS mmm(fcs ;::'m:s' o
(1) BLQG (2) BGRL - 3y BGLQ lﬁQﬁ
37. The missing grﬂl}B\Of letters,in‘the series YBXC, WDVE, UFTG, is
22 2 38 TRIG  RARE.  ssEmos’, SHodS efS S5nmaie
VO R 3) SHIR (4)— SHRI
W SRH 3) St i e
- <H Alphe | ‘ from 1 to 26 respectively.
38. Letters from English Alphe het are assigned with numbers from pe y

“$ represents odd t =
“# represents primenumoct,
. . o eioreod 1 808 26 Sopgod’ S&Hdm ©BoTA0T .

$ Doy 5V _:65:6993359.
5 Bomwg 50 BRGOVES:

)
@) HSHS =+ SHn

¥ s 3} S AR AR

; -~— "iﬂgl
oy
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- written as WVIRXGBI, then thecndeﬁ:_:m :
39.  Ifinacode language, DIREL [OR 15 writte %N ROin

that language 1s .. ) i,
o§ &6 wrie* DIRECTOR <, WVIRXGBIm 870008, seras® NEURQ S 86

(1 MRHIB " (2) AVCBK H} ORU\:E (4) ENRBC

40. [Ifinacode language, DLJ\“:M Y is written as FU[ile then the code forELEPHANT in that
' €2
language 1s § & 6 ) a
o€ 5 raest DONKEY & FUPLIZ & SrOols, eyrias ELEPHA\JTéo 56
(1) FMEQIBOT {"‘1 ["ﬂIQJLPV (3) GMFQBMSU. (4) TNAHPELE

41, Ifinacode language D{){:— 79. PLANE = 53, then mthatlangnage CAT=

o€ §8 st Q(}G _ 29, PLANE = 53 mond, seraoN@AT = w3
|

4 1S Wb 1S Mt {10
(1) 32 (2) 28 By 284 F " (4) 30

42, ‘N’isSouthto ‘M’ and is East to *Q". Then the durection of ‘M’ with respect to *Q° 1S
(1) South-East (2} North-East (3) North - West  (4) South - West
M & d8momier, Q% drddy 395 N a8 eond Q Syrg M dng, 6¢
(1) esMoHdn 2) &dgde (3) TosnSgse (4) I8

43. A boy started walking from his schooland travelled 5 km towards South and he took two
successive right tumms and walked 6. km, 5 km respectively. Finally he travelled 2 km towards
East. Then the direction and the dlﬁlm of the destination from the school are
(1) West-4km O N (2) South - East4 km
(3) East-4km - W (4) North - West 4 km
wE Tl 88 e 559@ hﬂﬁ:mﬁa 580 YK 5 8. PalrBdomrdo. ST
“OoRST Sokhrdy Sod, DS Em 0B 6 8. ba 5 8.0 S8, WSS w§ & SHod

) 2 8.5 drdn3os D e $ob Ao Ho BY, Srssw
m g, 4 8L 4‘ (2) efyoho, 4 8.5

tl“ s (4) sro$nSgo, 4 8.0

use and travelled 30 km towards South and he took left turn and

Km. Agaithe travelled 6 km towards North to reach his office. Then, the direction
.;L ?mce to his housﬂ are
ﬁkm

(2) North - West, 26 km
s (4) North - West, 25 km
*ﬂ“*- “«94-‘” ﬁ&m 29 860 dad T96 800 7 85

-,J"‘- ﬂn
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45, ‘Pis the mother of A
(1) Maternal Aunt

'3) Paternal G (2) Cousin
(3) rand Mother (4) Maternal Grand M

S
A G0E), FERY Sod Gaog) gk P 5D w0t A P& &

s : ¢ A7
oS father’s wife. Then ‘P’ 18 related to *A- @S

&0

(1) @53& lats (2) 28 (3) ﬁ"l"-')ql;{”g_, @;ﬂ‘}é&&,
Answer the 46" and 47 questions ] )
p + Q means ‘P’ is father of ‘Q’ » by using the following data .
p—Q means ‘P’ is brother of ‘Q? Q
p x Q means ‘P’ s sister of ‘Q’
P Q means ‘P’ is mother of Q* % o

SArTEAN  JFtcod® 46-47
REHOK avmm\M

P Qs.r,érr' ‘Q’ Bg), Sod ‘P’ i

p-Qedm ‘Q R, FEde P’
B+ CxD?

Px Qedm ‘Q’ RB0E), FEd P’
P+ Qudm ‘Q" A, 89 P’

(3) Aum (4) Grand father
He pacsamqﬁu

(3) ol (& s

46. Howis ‘A’ related to ‘D’ in the expr
(1) Father (2) Uncle

A+B. = CxDé;ﬁraut‘i“ D

(1) éa@ (2) @
47. IfA- B,-'-CxD then(31
(1) Cousin (2 (3) Niece (4) Uncle
ﬁﬂ Yot alelnle

A-B+C X D@:m
(1) &28

48. Among the fnllow

(3) FE0D BBy (4) ©oHS

ements, whmh are true?
e is not defined

. Length of;

. A line has noefid points.

III. Line in® segment are same.

IV. Al ent has two fixed end points.

B, T8 ad‘sﬂaasﬁﬁ;‘

pEo wody ﬁu:ﬁ:fatﬂ &oBY

- L3, dgrpodsdn Bodr a;éz,ﬁf

,"...:..mm»m Bodo, 8 ©0FER0RIN dodron
WLLy @ I.II[.IV (3) LI

9-B

(4) I,V
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, wing table 1S r@_%
49, The missing number 10 the follo g N
. q'_“_ .'--..m'!é J":'EJs o 'h;
Bod SBES" Swown © =
i’ —— | ‘*ﬁl
5 L) I":l '%. 4;:.’{;
d gn =

6 r 10 &
(1) 9 (2) 10 A3y 11 Qﬁh (4) 12

Answer the questions 50 to 52 by using the data given belu Q‘"’) |
S0 S8 52 568 Ko EHOK, §o8 AR’ PIrT T EPAIRD Sireiines Taod.

ey

! 5
a*b=>a>b - %

aSb=a<b &

a¥tb=az=2b ?
a@b=ac<b 1
aOb=>a=b | Y
50. P@QOR=S= .-*s‘ ﬂ
iy TR (@) RSSemy R (3) QeS . (4) QSS
51. PEQ@RSS = @, : |
(1) PSQ @ gﬁ?‘ (3) Q@S (4) R@S
52. ITP#Q#ROSands » ,,,,ﬂMWh:ch one of the following options is NOT true?
P#QHROS %00 §#Mwond, vyt §ob DQFOS* DB $1E550?

—— @ﬁés (3) Q=T (4QST
With the help of the fn@g statements choose the correct conclusion for the questions from
53 to 55.
53 %08 55 56% Kol

g ;:r"';l ﬂﬁa ol PiSae srdom 850 KJG‘CSE'E:R’J} JonE Wood.
- Some ‘A’s are ‘B’g b) All‘B'sare‘'C’s c) Some ‘C’s are ‘D’s
Some‘A’sare ‘C's [[) Some ‘B'sare ‘D’s
(2) Only II correct
, (4) Both I and II are correct
g N ro N @ B wyeron  b) @) ‘B'en ‘Ceo vHheron
| c) B 'C’ e ‘D’ e %mm
'C'f-ﬂ WYE ) I1:5Q) ‘B’ en ‘D’ en wHharon
(2) I S8m@d OGS
(4) 506050 [ 50503

10-B

F

_ ~ 53. Statements :
B Conclusign)
B (1) Q t:-:- o
e .;@) m Torll correct
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¢ Statement: a)  All ‘p - .

b > A% lQ,s -_?; W
) No'Qis ‘R’ . O
P _f__'.'_‘= T,
E | ) Sﬂmﬂ ‘R‘IS are ‘S‘S | :
Conclusions: L Ngp is ‘R
Il Su. QY
me *S’s are not ‘)’

(1) Only I correct
(2) Onlyll Lnrreﬁ

(4) Bmh[andﬂﬂc correct
f.:::if‘.’i;').am . a) H"‘ZJ_ ‘P’ exs Q Mo

(3) Either I or II correct

b) ‘Q’ e 28 ‘R'sy ¢
c) ﬁ’% ‘R a0 ‘S’ e wyaon
‘Htf,ﬂm I m ;?& ;Rs E‘%‘-"‘" | '.'7_”‘:7"-':'
I1: Jl ‘S’ e ‘Q’ m gﬁ@_.--’ | '.‘-_.:i"
(1) T3rm@d 6058 (2) [[ Srgd H0I8
(3) 18 13588086 _ 5:1 gg} [ $o8c30 I 38&03D
»
55. Statement: a) All‘A’sare
b) All‘C’s
Conclusion: I: Somey A’s
i Sn% ‘Cs
(1) Only I is correc - (2) Only II is correct
(3) Either I or IT is (4) Bothland II are correct
ESEHS0 : ﬁ CATREER D wa0non
2 ‘C' e ‘B’ o0, 8800
s | ‘C’ ‘A $iperos
. 3'9.1 ‘B! gy IC 0 $RE
7 2) I Sove
(1) 4, 50a%s8 (2) B J0GDSH

(3) 18 [1665056 (4)- 1500080 [1588058

11-B
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545 cm and n semi-circles are drawn with n distinct radii on AR,

'd pﬂth 1S (IH CIMms. )

$6. In the figure below AB =
0.0 AB ndYI) FgrTes fo nwd

The length of the curve
808 SLdnes* AB. &5 245

=y 6‘) - M, &
25,88 SEdwe Iwgo FEH (B0 2.0 _H
245¢m ) B '@
I
(1) 285 (2) 485 (3) 585 . & (1) 385
-"f.-" ":L-J._. »
57. Ifa cylinder is made by a square sheet of side 21 cmﬁﬁyﬂmng its two edges, then the

curved surface area of the cylinder formed 1s ,.ﬂ'::,}_ %s:

(1) 440sq.cm. (2) 421sq.cm.  (3) f;-qwcm (4) 431 sq. cm.

21 Do Foadn o mﬁofﬁ@*s*dag) Eﬁﬁéa‘i}a@; .- o I008 éman'“ Dd:_,a ﬁ__;’a
@§ do ITogo '\_%

(1) 440 S0  (2) 4215 Dodo o344l sDo.do  (4) 431 3o

58. The marked price of an item is Rs. 6,000{ A ftepgiving two successive discounts it was sold
for Rs.4,080. If one discount is 20%,then the other discount is
ém;ﬁa @808 Jo & 6,000. Bﬂ&*éﬁm A otwod 2 8 SRIJSD &~ 4,080 §
Ihéa*d; OMTAL Eaﬁ?z,oé.:a 20% @0333 Todd &dnon | -
0y 15% @ 0% Y () 5% (@) 30%

59. The investments of A and B. .afc 2 Iakhs and 3 lakhs rupees respectively. A runs the
business and so gets 20% of t‘he profit. At the end of the year if B got a profit of
Rs.12,000, then the tnta], Ew (in rupees) is -

A Beo a&gz&-ﬁ:m ;’:@ “n' 2 ofen, 3 wfe Srdcden. a‘gﬁ'ﬁn SHYDHHHoS AS

gt 20% éﬁfi S0¢
(rrcse’) ?

&or0SB0S B ergfo & 12,000 &0 wond, Ingo ergfo

() 25000 & qzj 22.000 (3) 20,000 (4)- 30,000

- me-l-g times the princlpal in a certain time period Iftherateafmmﬁle
% 8 S0 5:0 25
'-""f'*"*"'w g ©He8) l_g Bl ®oN0d. WS Bew Sodosn Soi0
. 'Z- : l : : ] l
- (2) 9-9 —0 =
R
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At the same rate of annyg| oh

Rs.15000 1n 6 years, then themlifou-nd Interest if a sum becomes Rs.12.000 in,3 years and

5 4o5EE SIESE 12 | unt (in rupees) 18 f N

¢ o 030 mL 3}% OTOID Bos sy 3 soroet . 12,000 e, S8, 585G TS
e h“"“b[m o wang, ®den W) (Grdraine’) | L '} '
(1) 10, (23/ 9,600 - (3) 7‘[}0{; (4) "3,000

A purscis havlr}g 2_0 Paise and 25 paise coins and the total nuriiber of geins is 50. If the total
value of the cons in the purse is R | 1, then the number of 28 paiSe coins is

»8 288" 20 Bde, 25 Do @Ene sR)E0% Ingd S0 oy T Iwgo Jeod
Sen 11 ond 25 2o TBlve 50335 W

(

-

) 30 2) 15 B AR @ 10

Ina fraction, if both the numém;nr and tfle dcnunun*aﬁg_rhre decreased by | then it is equal
l . at i e
to 7 . [f the numerator 1s increased by 2, then.it is.equal to 3 Then the fraction 1s

nf DS BN, FHEBwe Bodods od 18 8HIDS @b 3 w0, 0S50S

- s ‘g8 =

2 Soobr © D0 7 K ﬁﬁrﬁﬁgﬁ;,%;%ﬁu
" N 15 i 28
N 3% - @ ' SRT: 60

If2 +4+6+ 8 +..n term e Gnd1+3+5+7+. nterms=y,

then the value of 7+ 1 5§+ 19 +... n terms represents
KLY, 000 1+3+5+T+. ndoes =y

4 oo GRE) Dendd drdodsd

(2) 3x-1Sy
(4) 5x-—5y.
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the probability of getting the sum of the two MUy,
. O

66. Iftwo unbiased dice are throwil,
them equal to 10, 18

o Jiry8s FUsW 256, oo D

o domgo 0850 10

: | 3 (3) l Q) E
(1) == (2) 3 12 0 )
67. If three unbiased coins are tossed simultaneously, the bihity of getting exactly op
head 1s
Soordly Aany§s T@dned 280 5 E30S8E", ‘Fq: ™ w8 5y 53 SEEVNIL
3 | B \ 5
1 3 @ YR 4 -
68. 342 =
164 154 127
1 I ot 1§ e ——
N 5 e T ) %5 @) 75

69. 16850 and 2575 are divided by k
greatest value of k is ®

6850, 2575 X k& 2rhods
e S

(1) 500 X 25 (3) 850 (4) 875

70. p2+2q2=\/Ep
B ) 2

————
——

) 1:2 B3 1:2 . (4) 2:1

B 75 kgs of gce is required f
. . or 20 s
mﬂmc vdays for which the rem

£
J o |Lq

t}ldents for 18 days. After 6 days two students left
aining rice is sufficient for the remaining students, is

80 20 P08 Dorgess 1§ Frarets SOFHD. 6 Sweo o agd

- ¥
MR, S

P ORD . DHOS Dm'sgguﬁg, DAY Dadogdn JBFDH Sare Howg

40
(2) 3 (3) 3 (4) 3

14-B

8 f'l'ﬂ ﬁﬂﬂ\&“

¢ respective remainders are 50 and 25. Then the

dren S6odm 50, 25 wond, k By, vEgls (K83)

|
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s 530 Bagd -;?Zr‘?- TOLHE> Ko wE 50D 12 FareTtgs dabru.
2) 25 A §areres

(3) 40 @ 30
3. The speed of a boat in <t
St : :
If the boat travels from ilt‘;fﬂgel‘ 1S 8 km/hour and the speedof the stream is 2 km/hour.
A and B (in kms) is and then returns in 12 hours, then the distance between

Jold Q55 “ '

P <8 -Z S B43 Jnsw Kot 8 8.5 SoBa s IS0 Hotsk 2 8.5
2 B'% 3% 2an QEWNLBY DEPT BN 12 Kotaen ﬂ&mé A dod B%

Ko Srdsn (§6‘533e3§.5*) At

Vi (2) 40 (3)" 35 (4) 60

74, The average of first fourteen numbers in.an ordered set of thirty numbers is 9 and the
average of the last fourteen numbers in'the set is 5. If the sixteenth number is 7 and the
average of the thirty numbers is 7 then the fifteenth number 1s
30 Bopgen o wf G S8 JodY 14 Lopge VTR0 9 R0 $HWES'D DB
14 Sopge JTw0 5. HEEHES Somg, T H80k0 & 30 dopge $owdd T gond, 15 S Dowg

A ———

5 o) &N 1 O ,

75.  The costs of two varieties.0 -ficeare Rs.27 per kg and Rs.35 perkg respectively. [f they are
mixed and sold at Rs 36 per kg to get 20% profit, then the ratio in which the two varieties
Y . ) 3

are mixed is

Bods G&Sne Dokgo G
8* 2.8 0838 & 865535 ©Y
05 QS

Gopm 88 &ov. 27 So8adn 8 35580 doSosn B
20% ergidn odim, ol $¥dny HogHPOR

- 4aat @/3:4 (3) 4:5 (4) 5:3
R\ 2nd un-British rule in India™?
76.  Who wrote the book, “The PU""”W (2) Gokhale
(l)é'%hmdranaﬂhﬁﬂﬂaﬂl (4) Dadabhai Naoroji
‘o ;E?mdﬁﬁﬁl g8 28 B0
8 FSH wo
,E__l.;_) :u'ao;_;:sa'&;éé 4y o Te'd

14 I3
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78.

Match the following
List-A _
a) Hala 1)
b)  Aryabhattu 11)
¢) Vidyanadha
d) Bharawi
& (Bob TID 2EBEHSN?
a0 - A
a) <o '
b) esdgafin
c) ozl
d) 50
The correct answer is

JBGLS Jdrerdsn
(L a-1v, b-ii, c-i1, d-1_
(3) a-ii, b-iv, c-ii, d-ix

£ d (2)
(4)

(1) RaviKeerthi
(3) Samudragupta
e a'n:a'&)l ci:-fmﬁ STAE TR
(1) <o -
(31 ddosroydd

(2)
(4)

Tndra was treated as?
(2)
(4)
BS0M B HodBi0?
(2)
(4)

(2)
(4)

Booklet Code

N
List - B L
Kiratarjuneeya N
Prathapa rudra yashobhushanam

a-iii, b-i1, c-1, d-iv>»
a-1v, b-1i1, ¢-1, d-11

Harisena
Pulakesi-II

B S08

Hode - I

God of rain
God of Ushassu

a’:cfli'i;’:é
- FSESAN

& g books which was not written by Harsha vardhana?

Ratnavali
Priyadarsika

(2) Gemse
(4) ©ohE)s




gl.

84.

t 85.

. Who founded a home at Poona to provide shelter for

. Booklet Code

Wwho was the chief Architect

Of Taj Mahato
(1) Md. Akbar | al’
(3) Abdul Hassan 5% 4 (2) Hussen Isa :
e8NS ti:-;ﬁae_)? ] (4) Ustad Khalil Isa o
() S | 2) SoS S 0
(3) oS SIS . (2) v

(4) o6 pdS o3 &

How many Delegates fmm.a_llﬂgvmg_the India met on the uccasiun first Indian National

Congress held at Bnmbajv in 1885

1883, D0eNS" 20AY B =8k sopS H5rIed B8V B¥Tgom
Sradolorg . 3 : :
(1) 78 (2) 62 (3) 88 (@ 72

(1) Pandita Ramabai 2) 0
(3) Smt. Kasturi bai P §

TSt Jdod RO 590 wEFo FHoI
(1) Dobs SSserrod (
(3) 8508 835Bwrow

Who is the British police officer ze for the Lathicharge that caused the death of

Lala Lajpat Rai .

(1) Hugh Rose (2). ;ﬁka;si
(3) BhagatSingh . (‘1) aunders
crerosiaoro® SR8, mﬁﬁﬂf;a siraﬁ
d : ' QE L)
(1) Sogd'S
4) Jodd
(3) K& @ s ;
, Adts were passed by the British Govt. in 1856
dnre ?ﬂhﬂ f:ull geAct b)  Abolition of Sati
") £ HNs abilities Aot d) General service enlistment Act
' isabiiitl

HEdse s3rodndd $io JB?

iR b) HdsE8 dhe ko
& I05T 0 d) Ssrsy HT oing Sho

L (3) a&d (4) a,b&ec
17-B
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%6, Who is popular as “Frontier Gandhi™.

(1) Khan Abdul Gaffar Khan (2) Gandhi Mahatma
(3) Tilak (4) Md. Ali Khan @

50y modm HenSwdSTE?

) o8 swd 1559 (2) mob .'.'i:;‘:*a'!o

(3) 8o (4) Sot6 o

{7  When did Mahatma Gandhi arrived to India from South
mob Srdy S8 S0 ROBITH Q Jones*

9%

(1) 1918 (2) 1917 (_3,)/.1 (4) 1920
88, In which movement Gandhi has given his slogan ie”

(1) Non-co-operation Movement ( 1 March Movement

(3) Quit India Movement ome Rule Movement

mod 9 g Jodod® "Ho S 0" o DeHITE?
(1) S50 JoEbe @adgdoo b) Sodairg Gdgsoo
(3) 8585 mobolr edgioo b (4) wvo &S Gdgs0

89. Who formed the “Forward B;gc@a 92

(1) Jawahar Lal Nehru
562

(3) Vallabhbhai Patel
P68 b 19395° s
. @)y pra bogds'e
2 (4) Jizd deoodg
ers that organised Khilafat Movement in India?

(1) 25358
R -(3) :':gasu-os:
med Ali (b) ShaukatAli

(2) Subhash Chandra Bose
(4) Pattabhi Sita Ramayya

¢ the M
L‘Hﬂulm

gt N
| " ";- 2 | (2) (b)only
T ﬂ) (4) Neither (a) nor (b)

(b) JES u_vb

() (b) s

My ‘,_,:-'_‘ o 4 .:. %8¢
C aeas clﬂ( ) (a) %odasn (b) e



Booklet Cudel B l

“C lh“i‘:’ (,Eaura“m 1ncate.dmwhmh g ._
(1) Punja (2) tate? LN
Bengal : 4 Pradesh
TO-TC 0 - D 0% 06t gocy (3) Bihar ( W
Yy [0 ' .
W @ Bors (3) b6 @ag_a@as
The moon is revolving roun q i

| th . \ Lo o
velocity becomes zerg? ¢ carth with a certain angular - % What happens if its

(1) the moon falls on to the earth

(2) the moon moves away from the earth ‘!; > .
(3) the moon remains in itg position 5

(4) the moon moves along the tangent of its nrbit%

gran LT Joud Fod E‘g&g:i;; ;’mué‘ 8% ‘ . o'Q 3Ko B dgo S00SHFES

uéaé)éoa&'? . i
(1) Sohdd s B | ? b
(2) Sohd &rd $o0d drdom 9% L N
(3) Soghd wdFSos’ dodS Wy JT;-?

(4) Soody S8 555 BNE, I&Jﬂiﬁmcﬁu’ﬁ& DI

500 ml of water at 40°C is u;txaﬁ »ﬁﬁg same quantity of water at 70°C. The resultant
temperature 1S \ ol

40°C $¢ o 500 2.9 %ﬁfzﬁﬁﬂ‘;mn fo 70°C 3¢ fo B8 SOLIYD, 308
Gas oD _

(1) 110°C (

 lens fot d vision. What is its focal length in cm?
: 2[) ens for a person for goo
s V& 55 gp_,ge.:ga:&; a‘d:&:&} T Pe ‘amda o' Jrgigosdo

(3) 30°C 4) 65°C

10 (3) 50 (4) 40

(2) A increases, V remains constant
(4) BothAand v decrease

Lir§§06™8 08 B8 wONTY, 3D SSerigdse N

w&@”
(2) A0obd, vidom Godold

(4) A, Ve Bodsr S
19-B
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ds on 1S _ _
06. The kinetic encrgy of a body depents ™ (2) velocity and time
(1) massandbeight (4) mass and velocity
(3) heightand acceleration - s
of SRY foudg © 59 8 " ﬁhﬁﬁé) 3f0, OO W
EHg008, & _ Q
(;} ; s:i cﬁsf W) s, 2
(3) . & U

97.

98.

99.

oohod’ A, Co Sabe %
b 208 N&'%o 9 <
$3‘“’ 2) 80 —

et : .
The motion of an object is said 10 be uniform when its

(1) -Speed changes keeping direction c:::tnstant @
(2) Direction of motion changes keeping speed o@r&h

(3) Direction and speed change simultaneously Kﬁ;
(4) Direction and speed remain constant (,&

L€ 559 dHsosos aomeod, W
(1) Sods¥ pdorr &od, 5& &vd 0

(2) & poom od, S056% 50O
(3) 56, So36¥ dodr asIOM
(4)y 38, Sos6¥ dodsr Rborr @o

On an average, a human heartis foundito beat 75 times in a minute. The beat frequency of

the heart is

S SmySodoo Sridasd 15 38 Sépsooinod. 8 FBcho KB, SOES

BS:0050
(1) 1.25Hz (3) 425Hz (4) 225Hz
12Q
X
e Wy
= ? 12Q C

I Ve circuit, the resultant resistanna-het\yeen Aand C1s

B 199 @ 120
20-B



100.

-~ 101

102.

03. Which of the following |

@ Booklet Code ‘ B

35 BI NOGYD Sogdrs, (@, dogs dopgeo SERM N
(1) 35,45, 45 ) 80,35, 45 O

g 50, 30 (4) 45,35,35 Q

Acid X 1s present in Tea leaves and acid Y is present in Tamarind. and Y are respective
(1) Malic acid, Stearic acid |
(2) Tartaricacid, Tannic acid
(3) Tannic acid, Tartaric acid
(4) Oxalic acid, Tartaric acid

& sfod" ¢od sio X, DodHons® ¢od
(1) 500§ w0, $08 wlor |
(2) &rgOE ©0, irgdE siiok
(3) &g Lo, Lrudf vda
(4) Hﬂ;‘@_g $30, L&ods B0

Match the following: -

List - I (Ore) List - II (Metal extracted)
a) Bauxite i) Mn

b) Pyrolusite i) Mg

¢) Magnesite i) Al

d) Magnetite iv) Fe

BoB 5D BEBOIEI

=de - | (T&D) =de - Il (% 90ed S*ro)

a) w88 l) Mn
b) ':.gﬁ‘mﬁg@ i) Mg
R\ ¢ i) Al
iv) Fe

| . (2)  a-iii, b-i, c-ii, d-iv
i, b-iti, ¢-1V; aaf’ (4) a-iv, IHi. 0-1, ﬁ-{ii |
s not a radioactive element? | |




Z="T7)is 152 2522;1_}: Zpi, Zp}_, This is in

: ' cn
104. The correct olectronic configuration of nitrogen (
accﬂrdanf:e“ﬁﬂll (2) Pauli’s principle
g)) Eu“ﬂa:;'l:‘? (4) Pauling’s principle
o e
soa%8 dogS dTgo 1s"2s

3esas (Z=7) B8

SohSr8 sdsrooT Frodndod
(1) s55 a0 (2). 28 dr@o { ?
(3) Svof oo (4) 200K L Em

In modern Periodic table, the group with maximum y..-;'--

105.

(1) .3
(3) 15

106.
(1) Rayon
(3) Nylon-6,6 !
5 1EOS B WS, w&DE B850 WI
(1) BcsrS >
(3) 38 -6,6 * ‘ DESE

66 DNES FOSE
VeNgS R

107. Reasons for selection of garden ) nt
(A) Predominantly self fertiliz 3, 0
(B) Annual plant ? 4
(C) Unisexual flowers
(D) Well defined characfore®:
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108. Match the following with re

List-1 Sard to excretory pathways
A) Hydro carbons and fag List - 11
B) Extra drugs 1) ive |
) SaltsofCa, Mg }{)) ;ﬂ;i‘;:“““““
s 1l 1
o iv) Sebaceous glﬂrtdﬁ
v) Lungs
n::gé B SrTOR Souolod Bod o 2388 55 TS89 ,’
e ww -
C) Ca, Mgodere ii1) M@bawm
D) ?5&5(@0&?%{3&};5 EV) "raéﬁﬁaoﬁjﬁ @G@m

V) &2088300
The correct answer 18

HBGNS DITEEI0 =
(1) A-wv B-iii C-11 D-v | (2) A-iii B-ivC-1D-v
(3) A-ivB-iC-uD-v. | (4) A-iiB-iiCAD-v

109, Assertion (A) : Thalasscmia is serious inherited blood disorder.
Reason (R) : In this disorderthe production of haemoglobin is decreased.

(1) Both(A)and (R) are truc and (R) is the correct explanation of (A)
(2) Both (A) and (R).are truc, but (R) is not the correct explanation of (A)

(3) Both (A)and (R)are false

(4) (A)is true,but (R) 1 false
Esaﬁ‘ﬁéﬁ ({Al cﬁa,},.;:}.)oj:}‘ @35 55‘:3‘% ﬂﬂﬁﬂ&ga;ﬁ EEY @:)Jf)aﬂg ,;J"S&

B S20 %&) Vs 53"855' mgyﬁ‘ﬂﬁ G d\g Keadoom SAFE08.
.“nam (R)Bod> & 50008 (A) % (R) 0G0 disten

. sans Q) Bod> oA TO (S (L SEEE S
() (A)sposm (R)TOE &35 '
@) (A) ety b (R) 82

- ol -
Ll # by
4 T =
il N~
Yy .
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110. Identify the false statements recarding ‘Green House Effect

A) Eutrophication ( N
!"ti& 4!"

B) Raise of sea levels
sased ’fﬂ

C) Earthand sea temperatures will be incre ﬂw
D) Earth and sca atmosphere cools ._
§o RSGwas TS’ s 50088 HerS5080
B3SS50S Kfotod.

(Green qu@gﬁcct) 50230000 S5y

A)  SoEs RS
B) ®dnif A8 Sodo W&o

C) 2o So0osn JSE SFNew “a‘.:dric‘éoe
D) zodo Sbcsn JSSNE TerSdao ﬁg@d&ﬁ

$ N - Q (4) AD
J

111. In the following equations, th&tﬁisewc IS
(1) CeH 50, +60, — 6C€?i-ﬁ~éﬁ 20 + Energy
(2) 6CO,+6H,0 %mﬁ@; 60, +6H,0
(3) 6CO,+12H,0 qﬁgﬂpoﬁ +6H,0 + 60,
(4) C4H 1206 _}ECJ.H*aOH +2C0O, + Energy
got shossenost Sosae

(1) CﬁHng* +60, - 6C0O, +6H,0 + 52

(3
&'@2 +12H20—+CﬁH12 +6H20+60—!

ﬁ“'}zcleGH_l_z
- " " COZ +¥§
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T ? NG .. o
1 2 A’ plant produces ddjs’cnulmus roots when weak stems touch the ground. o~
‘B’ planthas thread like Structures with knob like sporangia at their GPS: ¢

« p¥ant has dot like structypes on lower surface of leaf. 5
Identify the plants A, Band respectively §

(1) ]u@ne, Fern, Rhizopys (2) Rhizopus, Jas ‘
Qs Mhizopus, Fery (4) Fern, Jasmine, /e

| ‘Al 3&)5&6‘ Q VOLS Somres 3% & 8SLYE BeBgdo 4§
B B’ SR, G20 SodJo Soll a‘m&mum, o8 JSES 230
. DA ol : .

€ 208, JEY 8K TS Do ol
A, B 508050 C o S&3m %80 |

(1) 208, 2§, 3&"38 DI\, 0B, WO
(B S8, 3FWR, B (4 8, 8. BEOD
. 113. Assertion (A) : Vasectomy is a surgery ing ales.for birth control.

b Reason (R): A small portion of spermgducts'is removed and their cut ends are tied

S - during operation. &

(1) Both(A)and (R)are corrcct andy R) s the correct explanation to (A)

~ (2) Both(A)and (R)are correct bu A‘ is not the correct explanation to (A)
i - (3) (A)is correct and (R) 1s j’rﬁ g

~ (4) (A)iswrongand (R)15€errect | | |
" 'F .'ﬁ R): & %3 §8800 77 Bodo DSGLH KM SNEIJS -

o Hea8D, 5865 (A) & (R) B0GS D58e
566050, SR (A) K (R) 36808 d88m 57



115. Match the following | List - 11
= .'flCrnp i)  Food for cattle ~
N ES ii) Ureaand Superphﬁﬂphﬂte

Rabi Crop '
(Bj: Chemical fertilizers iii) Cow dungand plant waste
iv) Pea

Organic Mmanures
@ v) Paddy

§obd T8 a8 H8S0d

A) 289 Sob i) DHHok D&

B) && do& i) oSrrbaus, <% pe16] 3*'5@36.30
C) SFrahd dhJeo W i) (sdnd, Iog o SgTEO
D) wodod Q8en N V) ~28°9

V)., ®8
The correct answer 1S |

OGS JDrFRD0

(1) A-v,B-ii, C-iv, D-iii 3
(2} A-v, B-iv, C-ii, D-iii D
(3)  A-i, B-ii, C-iv, D-ii £
(4)  A-v, B-iii, C-ii, D-i

116. Ider_ltif}r the pathway of the-air in'different parts of respiratory system in human bei
during inhalation

(1) Nostrils — Alveoli,—sFrachea — Pharynx
(2) Pharynx — Trachea — Alveoli — Nostrils
(3) Nostrils ﬂPha'W- — Trachea — Alveoli
(4) Pharynx —Nostrils — Alveoli — Trachea

ﬁré@ag’j‘ ﬁ%ﬁﬁhﬂﬂﬁb*’ o |
WO 20N0LYE Te0S8S -
fgoion. T TIREERRID DI oS’ ooy 303 S
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he followi
7. Study't OWINg statements rejateq A
rosis.

A) [Itcauses deformities iy |
Deformiti 'mb bones. e

g WZTCI’ C;;T:iiﬁf to fluoropsis can b; prevented by takKing milk and green ._Ecgcta_tfl%-

D) 0[511111111111 ﬂunri(glt:i}?llha“ 1.5 ppm of fluoride would develop danfal fl‘unrﬂslh.
s Clindrinkine water i .

@'ﬂﬁ‘ﬂmg QoR0B0N Bod @5ﬁm:;kzzz:;f£;“§§i§2—5 ppm

A &?Er S;ﬁj” aé"”‘?‘ AEWS B8 rbdzﬁ)e*w

B) 609 Jo S4 BROEODH Feo, wlsHd ST spgom BH0E'DIE0
0" AaBoSS ! 4‘ |

() SDIES' PTE 1.5 Bd.ako gay dky,Sewd Gob YO'IE Eeard&08

fi istiod” shhne! Y08 Roof), aﬁngé;’nﬁruﬁiﬁ.fmﬁ:.oﬁm.

Find the correct statement. ¢, &

38008 PIXZTe HBood

() AB . By B.Cp 3) D ) A,B.C
118. Organisms having open type of circulatory system "

(A) Molluscs - (B) Annelids

(C) Vertebrates M®)" Arthropods -

DEYE 88 00 S0 ) Bhen E'J

(A) Mﬂﬁéﬁm 03) ©IDH

(C) SEo57ew (D) s G PFEod |

(1) A,D 2 B.C (79 @ AC (4) B,D
119. Match the following :

List - I - g List-II
A) Gregor Johan Mendel | i)  Inheritance of acquired characters

ii) Natural selection
iii) Process of Inheritance

iv)  Structure of DNA
v)  Mutations

B) Watsonand Crick
C) Jean Baptist [ amazck
D) Charles Darwin

Bod 78 2800 BH0O L.

. : e - 11

5 ;‘ﬁ;‘ﬁtm5 _-_g_,;mcief 2) efgé oo @msuagé
. \ @5)8 380

B) ¢S sadoio €5 iii) So¥>sonds dErso

Q) 45 app§ o5 iv) DNA o0

-D_) 98 3 35 V) ﬁéa&éga'm

ct answer 1S

".\.I._ h ..

SO i | A2) A-iii, B-iv, C-i, D-ii
f‘;‘ ,' ) A-i, B-iv, C-11, D"f 4)  A-iii, B-iv, C-ii, D-i
'.- ,..‘-P—_. r :‘. .A-.lii’__B-' : C-' V, D"‘l : : i sl
Eﬁﬁf i 27-B _ | - el




al indromic nuclcotl
a5 SESTRY WYOH0
@ S-GAATTC-

120. Identify the correct p
3B 3008 6 Ir§RXE
(1) 5. AGTTAA-3
3.TCAATT-5

4 5-CC GA A £ _ i
(3)::5-GATAGA-S R
3-CTATCT-S (
121. Whittaker’s 5 kingdom c13551ﬁcat10n contains ¢ <

lia &
(1) Monera, Protozoa, Chromista, Fungi, Ammf;’l I m"%
(2) Monera, Protoctista, Plantae, Fungi, Anima o, f;j

(3) Monera, Protista, Fungi, Plantae, Ammaha%,ﬁ S
(4) Monera, Protista, Archae, Plantae, Fungl

DBES Do), @u:ur:ﬁ: g 5§§6@ 1&0&&.

(2) man‘-', @é,rﬁésq, ﬂ-ﬂnﬁ :m
(3) oo, @&, 900, 308, ¢ o
(4) oo, @esg, oo,

122. The first place that found n@s Va]ley excavations
(1) Mohenjo Daro Q  (2) Harappa

JO s

(3) Lothal (4) Surkotada |

B0t @FodH @ oDO)AS B Hddo 8?2

(1) Bodrozc (R 3

Sl % : e .(2‘)’ 33633 AR C SRR R
B cos . AR () SoSved ,1'7_ émui;.

12.\3 ATiIKamec

(1)
(3) ‘Pondicha
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1‘ The foreign Travellar of Persiy e | |
(1) Atchuta Deva Raya PQual Razak visited Vijayanagara empire, in the period of 7
(3) Krishna Deva Ray, (2) Devaraya- Il
% BodS (4) SadasivaRaya ,
5005 SIELE SR O3S Sar, 036.3 Sesisis a; o:bé{j__i&ﬁ;vérﬁﬁgﬂﬁéa?
Q) Bscase - s
(4) HEaSTcHON _:";-

: ,_'I[]I . ‘Mk'#.

(1) ®g8 BSTaHen
(3) 53?93555"033&

ion (A) : - . @&
P g:::no(R(); ) 3::; E;Eppanﬂ had commercial links Withfﬁémpﬂmmcamf‘
1) Both(A)and (R "appan seals have been discoyered i Mesopotof:
( (R) are individual y true and (R)fs.the.correct explanation of (A)
(2) Both (A)and (R) are individually true but (Rﬁfiiilbt'?the correct explanation of (A)
(3) (A)is true but (R) is false > N

(4) (A) s false but (R) is true vyl
PEFES (A): DIFE Dobgs’ ;’chsnmmm TGS DoOTTN Beay.
gm0 (R):  TE:% Bods «3 ;a;;@g‘*m BB oSt EFSRESD
(1) (A) 500050 (R)Bodr dzo, (R) (AN S98 dde
(@) (A) 90050 (R)Bods o 5 (R)E36 (A) & 538 D36 76>
- 3) (A)dzs» o (R) &3
(4) (A) 85y 5°Q (R) Qezdod

' Eﬁ According to Tripathi, “he wasone of the great men of history who blossomed out of dus
into glory”. Who is he? 4 | _
(1) Akbar (2) Shivaji (3)  Jahangir (4) Shersha

oS :.’nn& o ﬂ*”"‘;ﬁﬁﬂ s BT ol SOEs G D T BRI LEYI
B w65 f-’w ot (3) =&rohé 4) o

£

¢

_J;! 2. L ; _. 9
LR [\VW e irs 1s not correctly matched’
*l. Which one of the following pa

&, dras
(] S ettlement - M2
A "5 ) Jement - Bengal

west Province

B 98?
§08 agos’ H05I0 28"

IF:E:'r -




I-(_z_l | DOUORICL L UUC IQ

ns in Indian warfare?
128. Who introduced cannons and gu i

L Baburh (4) Ibrahim Lodi -
3) Shersha A 2
(“66 0 §SoHos™ D8, ey Soroen, Sdrsiod D0H0 Beond ;}:.'Jci}'a

: (2) w5&

1) el
- (4) zrH S

3) ao

Who was the first Indian native ruler to enter into the Subsidiary A‘Iliance?
(1) Nizam ul Mulk (2) Nizam Alikhan

(3) SadatAli Khan (4) ShaAlam
PIISEE HEBS* WS FO {HY FoLE?

129,

(1) a0 &8 508, (2) o075
(3) &S wOgrS (4) & seo

130. Vijaya nagar Kingdom is located in the basin of'the following rivers
(1) Ganga-Yamuna . «(2) »Ravi - Beas
(3) Kirishna- Tungabadra (%) Krishna - Penna
QBCRINE FSragdn & SES oD ;&% 5e¢50
(1) Ko - o3 £V (2) o - DS
(3) 8yT - Sons 0 {3’ (4) & - oy

e+

-
i
-

131. Identify the correct statements.
A)  Fundamental Duties aredne _j{_""%rated in part IV A of the Constitution
B) Fundamental Duties are eleven in number
g) i undamental Dunesﬂmﬁ“ﬂi‘awn from the Constitution of erstwhile Soviet Union
( ])) Au;d;mﬂntal DunfS?!;ﬁJﬂCﬂl‘pﬂ!‘&&d by the 44" Constitutional Amendment
(3) B,C anj;cf La” (2) A, B& Care correct
, e (4) A,B,CandD are correct
8ol oSt ﬁ&@éb @guﬁ{;&

A)  C@gofioSIIV-A arfssy st
=S — BEDE Dehoen FoH
B) ug bl[‘#‘ﬁ&bﬁ ‘S Q) FoDSB088

() A, B0 C8ogsa
@) A,B,C 00 Ddguss

LL
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ate lo .
Provide maternity relief

132. The Article that directg

(1) Article 42 the st

i eticle 47 (2) Article 51A(€)
S WO EdYosKHy 2 (4) Article 391
() 42 ©8e TER Vgeod ©vEse

(3) 47 ©8%e (2) 519 (@) @8R
(4) 3925 @8

133. Vice President is elected by
(1) Members of Rajya Sabha
(3) Members of Parliament

SJITZ VB I)HI

(2) ElectedMembers of Rajya Sabha
(4) Elected Members of Parliament

1 'D-‘ (¥ o at N
_(3) 2508 Jedgen (2) PagdBs IYBES DEDFO
(3) FZIoE Debgen (4) MGRoOLTE IYSS DEFEO
134. The tcl';:rc of which Lok Sabha was extendedbeyond five years.

(1) 4th1< Sabha ~ (2)" 6" Lok Sabha

(3) 7" Lok Sabha . (4) 5™MLok Sabha

N SESE HEDTOR) 5 HosETeR.Nod FBAOBEHIB

(1) 45 83 ' (2) 6% &'83F

(3) 78 &% ()= 0.8 & 659

135. First Chief Justice of Indiag'Supreme Court

(1) Patanjali Sastry ‘
(3) Harilal JKania © (4) Koka Subba Rao
G T§O0RTY

P68 Sofossy 3068 @
(1) 58020 T M
3y Hoerd as'adﬁ'

(2) P.B.Ganjendragadkar

(2) 2.0. fBoGm&),6
(4 Fs Do
136. One of the faﬁwing s not ﬂppuintcd' by the Governor of a State.

(1) Highﬁﬂuri Judge
seate General

:f Minister ublic gervice Commission
nafododndld I8

(2) ©BRES u36S

by s J'go:bWQ "
r ) BOIGS, o
(3) SoomeSool® L VO, O 2QE BES S2088




Booklet Code

: A3 | 3
137. Thestrength of a State Legislative Council must not be more th

-l- of the total mmnmmp of the chislativc Assembly

(1)
(2) g of the total membership of the Legislative Assembly

3 0
&) = uf the total membership of the Legislative Assembly 0

3

b
(4) E of the total mcmbcrshlp of the Legislative qumle
o8 g Do8 B658 Bebge 50§ Somg 08 mafg@
I \

(1) m& Q‘@ﬁa’éﬁ 'Mﬁg .fééqgﬂ' 3349&386' 2 0\

(2) of JFTEST IJndo “ebge é@ﬂﬂ@f" ..3..
1

(3) =g dwsle ?mga Babge Somge

138. The first High courts establis
(1) Rajasthan and Bombay
(3) CaleuttaandDelhi -

FsdogrgSodbo JG\AS

| (2) Madras and Madhya Pradesh
| (4) Orissa and Guwahati

Y

139' 'rhﬂ El L , 1.' ; : mfggv* _ﬂ ,p:IT " ?‘ “ :.‘ 'y .-I .'
1HIHH ,,'_.i” :'[I ' L] /

' (2) State Elee.hm Comm o

o

: J
4y - MU/ i
g l" j F' T ;":D':1||1':
|-. - - . y rl :
" A ¥ f‘\ ._ 1.|l.‘I it .
:{r @' .{.- '
i
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140. Match the following List - I with List - IT and select the correct answer

List - I
A) Chief Minister . ];Iist;lllf he Nati
> 1 ¢ the NalioR,
B) Bsuirent of ‘ncta i:) I-Ie:d thhz jStatl D
C) Vice President 5 - -
Dy Govemor iii) Constitutiona  Heag of the State
- iy) Chairperson of Rajya Sabha
e
Bods Sroodd e - [ &, e - 1 & 2BH6D, :@'w 'i:&g,éﬂ&.
e - | p '

D) #3856 W
The correct answer is
50G0S HITTEE0
(1) A-iv, B-ii, C-iii, D-i
@) A-ii, B-i, C-iv, D-iii
(3) A-iii, B-iv, C-ii, D-i
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date contesting the elections forfeits deposit, if he does not secure,
e

142. A candl
l lled
—th of the total votes po
M 7o

(2) -;-th of the total votes polled and valid O
(3) %nd of the total votes polled and valid @
1 o~ ?
(4) 3 d of the votes polled and valid Eh&*
Igos* FETD waigd E5H AN Ly TEB cﬁu;;i,% g%bﬂ,m
L e - "':.,
(1) Sxgo ﬂ‘gé “35‘ ﬁ:) NTol:h) ﬁ,é.x} «*i&:
a -
1 ®
(2) Fndo TS BYS LS —S S0 Ly g

(3) 3wdo BS, DS LLS* %zs 30

1
(4) JInngo FBS, DS LSt =5 3
e o 3 ﬁ' |
& !E*..;!:;

143. All India Services are mentioned in t

o 08 a&&sﬁat?&’n Pard
(1) 326 2) 3@%’% (3) 324 4) 316
144. Which of the following g r@;@fﬁve worked as RBI Governors.
(a) C.RangaRajan "*:% (b) Dr. Manmohan Singh
(c) M.S.Ahluwalia ‘ @ ¥ (d) D.SubbaRao

(2) a,bandconlyworked
(4) a,banddonly worked

RB ﬁéqldgrr- SABBS T
(b) @ HSIrHES Dok

(d) D. %o

(1) eaomy S0B>E
(2) (gy!.t@) 59065 (0 SrEd 5088
(3) “a)(c) 5005 (d) Smgds sad>6
(4) (a), (b) 3805 (d) Srm@d sadard:

34-B
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145. National Planning Commission was formed in the year

Bos S BoWo ITNLS Bohads HoHS)EHN fQ
(1) 1947 | (2) 1948
1%_\}

(3) 1951 1950
3 Mﬁ

146. Read the following statements; and identify correct answer. w
A) Mostof the rural arcas have trained doctors |
B) Nutritious food helps in improving the health condltm %
C) Some doctors may involve in unnecessary treatrnegﬂg%ke money

(1) A,BandC are correct il @
(2) Aiswrong and B and C are correct ?r;-_-h;gh %

" L
(3) AdiscorrectbutB and C are wrong 5{;&* ;

(4) A,BandCarewrong

Bod HSBSS0en BhD JVS 220 ﬁ.‘.- %{%}f

A) (e Posrost IEHTS ?.maggmﬁp

B) ©&gRd RbTe b releinINToY ﬁ‘ﬂﬁ”mhﬁ'ﬁ"ﬁﬂ 23008

C) &e3) SoFBoWTIS ?aé;’waa é;&a%iba BISEJEDS VESyen iﬂwuﬁ;’:ﬁ;}

(1) A,BS8o5» Cm STsles VTN @M;
(2) ADBG0IB 57 BN B, Cen S0082
(3) A$o5056. 550 B 500050, c& aB:ﬁa:ﬁ.‘Ds‘d:

(4) A, B %805 Caacﬁnﬁa s*é}

147. The following are natm:al f&gources
A) House B} Land C) Water D) Minerals
(1) Aiscorrect @JC and D are wrong
(2) Aiswrongbut B;C and D are correct |
(3) AandBar s rrect but C and D are wrong | & : | Jui.4
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al to onc hectare
148. How many square meters i = (2) 1,000 sq.mts

(1) 10,000 sq.mis (4) 100 sq.mts
(3) 1,00,000 sg.mis

o TR ) SEEL DY SRS

(1) 10,000 5. (2) 1000 sh  (3) 100,000 5.5 (4) 100 5.

149. The Food Corporation of India was established in the year

88 a5 ;ng %{bﬂ&im&é ﬁoﬁé&dm

(1) 1969 (2) 1966 (3y 1965 £ N1) 1963
150. National Institute of Nutrition 1§ located at | & | .
(1) Pune (2) Mumbai (3) Hydet_;_abad "~ (4) Vijayawada
8% FASTE Joy & St80S* &ob | W
(1) I (2) Sovozroxn (3) RS (4)~ D=0

151. The Government of India made National Food Seeurity Act in the year.
88 BHebdo =8oH B Fersio BRE Sosg)5o

(1) 1947 (2) 1950 (3) 1980 (4) 2013
152. First budget of the Independent India wasantroduced by the Finance Minister.

(1) Pranab Mukharjee .- & (2) R.K.Shanmugam Setty

(3) Morarjee Desai %, (@) V.PSingh

SgSolE WrOEBIY Toss P EIFYS ©gE S0

(1) @ed Sopd (2} R.K.3Ze0f0 38

(3) Swof Aok - (4) V.P.2of
153. Of the following which system of medicine is not a part of AYUSH?

(1) Homoeopathy (2) “lUnani (3) Allopathy (4) A ]

Bod ségagrsros' AYUSH &* oo 508 282

1) BooBrs | | Kk
(L) o S8 (2) osa (3) we&*'Ha (4) saiodes

L

154. The followingplanets are called as Inner Planets

(1) Mercury,Venus, Earth, Jupiter |

"= X ' (2) Mercury, Earth, Sa
(3) Mercury, Venus, Mars, Jupiter (4) Mercury, Venu Emm’ s 5o
o8 F8E* wodd |Foten * S, anh Mars

“’yﬂ?ﬁp&- BB, gova, ﬂaﬁ‘ﬁaﬁ
(3) =g, bk, Comrysady, QYNNG

36-B A



155. The dry and hot winds of northem plains are called & »

(1) Mistral (2) Zonda (3) Loo (4),, Chinook

&88 DETOS' AT &, F&T God HETO ' &

(1) DS (2) soo @ oo W 0388
156. National Highway No.7 (or 44) does not run through the fullﬂwmg "State

(1) Uttar Pradesh (2) Kerala g,

(3) Andhra Pradesh (4) Tﬂlﬂﬂg,mh_

0% oD Do, 7 (S8 44) & oodo ﬁ:aa" X8, | *"-5.&_ "

(1) eg5©ase @y Beg

(3) woGEBE- (4). Sgpr.}"ﬂﬂ

157. From the following, find out the correct Stﬂlq_l'__lflﬁm.-@'
A) Kosi project is the joint venture of India an@ Bangladesh
B) National Institute of occanography i$in Goa
C) The Head Quarters of South Westcrn Railways is Hubli
D) One has to cross Guif of Khambattwhllc travelling from Nagercoil to Srilanka

BoBTAS' ST RY)ID |

A) Fo @B x0dds, ﬂ‘ﬂﬁ‘ﬂﬁﬁﬁaéﬁ SEES -

B) 3I45S ashiorgd ¢ BES' (D vdd6 Fos' @od”

C) 3end &g BES 3eE0RS" &HD

D) &Ko8one Lol @wﬁ 34HTAE 1Sy B9 poFL Trd

@) B&C ‘(2)_;_, A&D (3). A&B (@) A&C

158. A partof Thar E@sﬁf is converted into irrigated land by this canal.

(1) Sirhind Canal’ (2) Sharda Canal

(3) Tawaf,‘unal? (4) Indira Gandhi Canal
) Boderma) FS0SS erdom SrQ86
(1) 2808 seos (2) T68 sens
3)mdr Sens (4) =0BoTod sens

159 io of iron ore, coking coal and limestone in steel is ﬂPPl'Omatcly ., i _ L,

BEy, Sasrbs’ DABrNOB RWD PIZO, 55 5%, Wma o
(1) 4:1:2 @) 241 ()421
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160. The salinity of Bay of Bengal at Chenna is approximately N,

a3 ) 38 Ao womeprdy oSngd S 2 - %j}b :

(1) 95% (2) 35% (3) 350% (4)‘; 200 %
161. These are related to Green Revolution ‘IFL

A) HYVseeds °

B) Irrigation facilities Q

C) Production of milk N

D) Environmental effects 1 @

(1) A and B are correct but C and D are wrong :};'1 <

(2) A,BandC are correct but D is wrong ﬁ;‘;‘f

(3) A, BandD arecorrect but C is wrong &ﬁ%}*

(4) A iswrong but B, C and D are correct = 5‘_{1}

88 DHTV8 HowooNID )

A) ©0F &had T

B) Q8 dddeo ¥orgen é}’
C) o &é8)\ b
D) 3ogste Harse =

(1) AS0050 B3B3 50 GsoBebo D 566050 59
(2) A,BSsain CHBE3D &9 E‘E@@:&a e

£3) A,BS0cin DB8ghs s-a Cﬁaoaazsa 50

(4) ADBGSB 56 5D B, :;)qusn D $08¢305

162. Most of the forests of And,hl%fkmdesh fall in this category
(1) Deciduous P (2) Evergreen
(3) Thomy ¥ b 4 (4) Littoral and Swamp
SOPERTSD way, 96, BB ertfo & 5508 BoBSD
(1) soay . (2) 88 508
(4) SS0E88 DEs

163.

(2) Terai
(4) Bhangar

(2)/ Boron
(4) #ors
38-B
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164. Match the following:

A) GM.C. Balayogi i)  Prime Minister

B) GS.Pathak ii) President of Ind%

C) Fakruddin AliAhmed - ii1) Vice Presidentof | ’E‘I’ a
D) LK. Gujral )  Speaker of Lok:Sabha
808 TAN 2EJOTODL: @

A) 2.20.8. TR . i) @ﬁ':&;’:ﬁ@

B) 2.2%. 245 i) z;-.ﬁ czﬁ

C) 5B 50 oim& i) , ﬂgﬁ *ﬁau‘gﬁa

D) =3 l'{:\l@;!";ﬁ_ iv) Mmﬁ 01555

The correct answer is f&f )

HOGS JDIrT RN ’): )

(1) A-i,B-ii, C-iii, D-1v *" {2’) A-iv, B-ii, C-iii, D-1
(3)  A-iv, B-ii, C-ii, D-i ﬁ,;?;fzn " Adiii, B-iv, C-i, D-i

165. Identify the wrong statement with regm‘.lrt‘o Fundamental nghtq

(1) Fundamental rights are not abt@.lte
(2) Some Fundamental nghts are available only to Indian citizens
(3) Fundamental rights.arc drawn from the American Constitution.

(4) Fundamental rightsare unamendable
h @'fﬁ:bé r50), 080 Son0ho Bod TS I8,
(1) @EDE e BBoERND )
(2) §Q @'cﬁa&g ), 0 88 PHOH SrEh oPJ|oD
(&) @éméwg@ﬁm o205 oErgolidn Sod eroddIoss
(4) @'émg ﬁ:z,ﬁbu:&: 448035008 Jendd

'_-:;‘CISE*ZO 167 is a joint Naval exercise of the following Countries
‘Russit, China & India (2) - America, Japan & India
Windia, China & Japan (4) India, Vietnam & Srilanka
;}%5&5_2016‘ & (Bod aTe ﬁﬁ)&ﬁ I5EY dIrgRo

(.3) Qobosr, B 258050 B e K

166.




FAranyen Adhikar” 18

67. The authoro (2) Mahaswetha Devi

E;; g‘;;fa iy (4) Arundhathi Roy
“eE@g woss” (ol SWoNE _,,
(1) Sofaasodany, . (2) S0 3e B

il (4) ©&H0¢80°5

68. Choose the wrong statement about UDAN from the following?
a) ItwasaRegional Connecting Scheme
b) Itwasstarted by Ministry of Railways

¢) Udanmeans Ude Desh Ka Am Nagaric |
d) The maximum Air fare for less than 1 hour jourfiey is Rs. ] 500/-

UDAN % So20dod & §od 8 008 JB5°R 55"5_3533@?53 352,),5“3&

a) 2B Fodcdh sl J§s0

b) =6 38 Ho@d; TeT FSoNoTVAIG

c) UDAN e3m &3 3% 5° s 08

d) 28 fob &% DErSSrTRE BYoIHRIE K0 ¢ & 1500/-

(1) a&b (2) b&c (3) a&d (4) b&d
69. Expand HEFA |

(1) Himalayan Environment Forest Agency

(2) Higher Education Financing Agency ‘ |

(3) Higher Education Financing Agreement .

(4) Himalayan Environmental Financing Agreement

HEFA & d3%80d0d .

(1) TSrocHS ISRt 303 A

(2) Sofgl JdgEaS DT AOR B

(3) Saigs Jdogela P Qofl wERoos

@) irecHS ITEDHOLSE PTYR LA
170. Schiaparelli is '

(1) anAmerican Warship supplied to India

(2) anAtomie Reactor built in India wi ' apan
omic. with the

(3) a P{}f’f\m _Pa'kistan developed by China D

(4) an | an Space ship to Mars |

508, 636 2.8

() >ex5e 3o wpsy

(4) SOMEEIPE BANOBLAS wata SeHTE
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171, Match the following Authors with their Books

g P otk i)  The Vegetanan |
i Hanlong | i) HowP.V. Narasimha Rao made History
e -t e iii) The Sell Out iy
d) SanjayBaru %)  Into the Hidden Valley

& Bod SSondod T8 Yises' assdos

a) &S Bowd N ) & 32BOIRS

b) &S sof A ) 5 5086005109, 36 50
c) 20.20.8¢) | i) & 28 035 W

d) Dozcd iv) =moin & @S 3gO

The correct answer 18

SISTeS SIS A I SN -

(1) a-i,b-iv,c-ii,d-iiif (2) .a-iiifbRi,c-iv,d-ii

(3) a-iii,b-i,c-ii,d-iv (4) a-i,bEiif, c-iv,d-iix

172. The United Nations Frame work convention on climate change (UNFCCC) held the twenty
second session conference of the parties (Cop22) atthe following place
(1) Marrakesh (2) Warsaw %3) “Raris (4) Lima
So3B6 Iag @S 3G, SRS B3 EME&Q&T (UNFCCC) 3§, 225 s°308) &9
65 (Cop22) & 08 HEFoS" 28008 L0
(1) HoE3% (2) oy (3) 083 (4) o3>

173. Donja is recently in news, because
(1) Itisa traditional folk dance’in Maharasthra

(2) Thisisa village adopted bySachin Tendulkar
(3) Itisanancient tribe that livés in the Eastern part of India

(4) Itisan app developed by Central Government for cashless transations

Donja atdse soos*® TES" wodwb 80

(1) @b HEogs® of Pofizrod @08 8850

(2)- 308 Bodow) FESS B:50808) (00

(3) @b &~ rEBBEOS* DSVHT) & 9% ndzs 8K

(4) =& So _@ﬁgéﬁgnﬁ SKEs Srd w60 FE5 w5 Vohads oS
_ &

174. In October wfk&fiﬁauist encounter took place at
ingipul (2) Mannem Konda

(4) Bejjanki
@ado

(2) S0 Fod
(4) aﬁﬂg _ .';l._;

41-B
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175. Regarding NAM Summit 2016. Choose the correct statements

a) Thisis 17th NAM Summit | .
b) PM Narendra Modi lead the [ndian deligation

¢) Heldin Venuzuela
NAM 52085-2016 £ Sowodow JVN TEgen JobE WoswH

a) =0 173 NAM 3porf S50340
b) &erdd aaaotraé P RS008 E»S'ault_fﬁl S0 EEJ"CSGSSQ Seromrds
¢) ©B dwors® 28808

(1) a&b (2) bé&ec (3) a&c (4) a,b&c
176. Host Nation of UEFA European Football Championship (Euro Cup 2016)

(1) Bntan (2) Germany (3) France (4) Italy

o30.2.99.0 0rERohe YHderd wabqﬁ:ﬁﬁnﬁ (c0%a»8* 85 2016)%0 s8&g0 aﬁgé ado

(1) @S (2) =269 -GS (4) =&
177. Match the following & .

a) JKLF {1), AbubakarAl-Baghdadi

b) Pakistan Army Chief . wit) Brahamdagh Khan Bhugti

¢} SIS { ¢ 1 iii) Qamar Javed Bajwa

d) Baluchisthan Leader iv)  Yasin Malik

& Bod T 2EXHHSN el W

a) JKLF 1) ©220086 & SHINa

b) &S ) DD 1)
c) ISIS (2H%)

d) BerddS TeH&By.
The correct answer i L’
OGS DErT S -

(1) a-ii,b-iijg-igd-iv
(3) a-iv,b- iﬂ}u»u d-ip

=

178. “Pithambar which was develo

RTDEAR S 2Hh
111)) 236 238 e
V) oSS SrOE

2y a-iv,b-iii, c-i,d-ii
(4)  a-iii,b-iv,c-i,d-j

(1) Lemon Grass Pedby CSIR Scientists recently is a variety of
(3) Gitronelly Plant Ej; gmﬂ Lilly Plant
N, urmeric Plant
w&ég_ﬂéﬁéu CSIR a3
: N e
(1) 238 a8 Wz;)g :::é 08 S5
‘F@ (3) Beag ang ) 08 2w
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179. The following leader has not At
(1) Dilma Rouseff Participated in th BRICS - 2016 Goa Summit

(3) JinPmng (2) Vladimir Putin
016 &* Fae® (4) JacobJuma
E Dl i @53 RErIfost PGS TroRSE | &

(1) &y GRS (2) THDE HOS
(3) 2 %of (4) wES s> 0
180. Central Government formed a Sub-Committee to address demo
(1) Navin Patnaik (2)
~ (3) DevendraFadnavis Ay
l D Th 8 SgEToR) H8IVoSEIE Bo Wk
BEFEE

(1) 39S demos
(3) BIoB I

A 181. UN General Assembly appointed Antor -

| was |

i a) 10 United Nations High Commissior
| b) Former 114" President n

| ¢) Former President nfEum

' -d) Founder of the Portuguese Ret

2Ego e 408 o LafGettcr ﬁ:éséz}éa PELY 2388 AHOASE. SN

NS gbaﬁ'ﬂb‘ K20 Gl
S ivad @ iaskd 0 e




183.

184.

185.

186.

187.

188,
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ntur district was constructed at the period of #5%,

The Amaravati Stupa in Gu 0N
(1) Ikshwakas  (2) Satavahanas  (3) Chalukyas (4)( Mavas
- ﬁ!

Kotard) Bers’ oo E8 7RI N8 oTRES SOl

ke ditige (4) SgPes

In the period which Chief Minister the arrack was banned in Anidhra Pradesh for some time
(1) Sri Chandra babu Naidu 2) Sa.T Arumah |

(3) Sri.N.TRamaRao (4) Sri. Damodaram Sanjeevaiah
D SwpgHod Tosns® sodRaTs® “Fo YufeSadsse

(1) 3 PSoeran Jroiod | (2) é, &3 "@onolig |

(3) § 308550 88 TEroY - (4) Y o3rsso SodSdlog

The Gundlakamma project was constructed in this.district.

(1) Vizianagaram (2) Prakasam o (3) Krishna (4) Guntur
Dogsloy (B8 IBotutided 2er

(1) duohdnssn  (2) 25 ¥S50 < A(3) 5T (4) Hotardd

The wood which is found only it Andhea Pradesh but not in any other part of the world is

(1) Teak o % (2) Sandalwood

(3) Rose wood (4) Red Sandal wood

PRoEINS" I8 & oosEom, SoBRETS® SrED 0od g6 28

(1) 8% (g) Aot BE) (3) &% 38 (4) 8 SosSSw0

The traditional dance of Andhra Pradesh
(1) Kuchipudi |
(3) Bharata Natyany

BOPSRTE BobS DPORTHH TL6B

(2) Yakshagana
(4) Kathakali

Drboga\ * 2) swgmse  (3) $o8g0  (4) Eored

;I"li;e f&%ﬁlugu film industry |

5 i{,viedd: (2) Rgghupati Venkaiah Naidu

amiagg%mm Sl <% (4)  Vittalacharya

%’ﬁ ::5;:& 3% (2) 68058 3okong ot
(4) derarsg |

44-B
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189, The first Telugu lady who climbeg the Mt. Everest

(1) Hampl | (2) Nﬂﬂlima (3) Saina (4) Uiwala

D5V DEIER) LRGN A ooty oIé

(1) 0% - (2) 0% 3) »a (4 (e
190. The famous book “Vishwambhara® was written by 0

(1) Dr. C. Narayan Reddy (2) Jashuva Q

(3) Sjaca Appa Rao (4) Kandukuri Veergsalingam

Esop HolSn "D¥ods % $DodSTH
Wy .E'.?O. H_"G‘ﬁﬁ:mﬂ% (2) @& =
- (3) né=é BAINT'Y @)

191. Where did the Indian National Congress conference ed the Indian National flag.
(1) Vijayawada  (2) Vizag (3) (Hyderabe (4) Madras
2ECH 20T SIrBoTES >EchH oD SEFIF 2003 BEY0
(1) duchard (2) 3=8 3 sorers (4) s

192. Match the following places assuaiatcdnrist groups
a) Nabha ULFA

b) Malikheda . @ i) SIMI
c) Pengeri \ {11) Jaish E Mahammad
d) Natrota iv) Khalistan Liberation Force

& Bob PdTes elisd ) uaam@m
a)  Se )  ULFA (em)

b) oda e il)  SIMI (22)
) oAb \k- i) BR O HESys

d) Sgster iv) PO OudAS PG
The correct answer i

2O amwée . Sy sl i T
(1) a-ii,b-jic ,d-1 (2) a-iv,b-i,c-iii,d-ii s W
(3) a-iii, =T c¥i,d-iv (4) a-iv,b-ii,c-i,d- i o

193. _ anipur is "
; (2) Medha Patkar
(4) Dhyuthi Chand

(3) a8's T Af

i
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194. The youngest cricketer who completed 10,000 runs in the test matches.

(1) Alester Cook

(2) Sachin Tendulkar

(3) Rahul Dravid

(4) BrianLara |

8808 Sobdos® BT 10,000 Sdben 8 Bed 8806

{l{)( @BQS 58 >
(2) 23S Bodre)d

(3) oS &b 0
@) QoSS oo

195. Tn November 2016, India signed a deal on Civil Nuclear Erierg
(1) Korea il

(3) Russia
2016 SSowbs* ros8Bo DS ®edd8 wHo
(1) Soas ’
(3) Sarg

196. In the Rio Olympics Women’s Badm@ingles Finals P.V.Sindhu was defeated by
(1) Carolina Marin - %, (2) LaraSarosi
(3) NazomiOkuhara g% ™  (4) WangYiHan

B 200N Hoirde arb &oé.f; %’Eﬁé’é‘ 2.0.0060, & 808 8TF0BE LA0EnE08.
(1) 8605 5008 ‘?&_.3;; 2) oo $6%

(3) 558D wbhido ﬂ% (4) ToR-a-5§ .
197. Choose the correct s r ;

st t rule of Fulgencio Batista

-
-

AN TR0 wEgRowrdd
g OC% TOSK 5588k0m pomss AL
91976 S5 Korgen R RSN SN
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198. Recipient of Prestigious 2016 Sustainable Development Leadership: mrd from Prcmdent
Pranab Mukherjee at Wnrld Sustainable Development Summxt waﬁ % -f}’
3) Pawan Chamling - S
( & (4) Kejriwal

569 20050 E BIOIZ0E JHAES* T{ DS @mﬁﬁﬁ:;q&g ;&m& DTS
HiHonRes BIODI0E vy B S8 e

(1) Sogera oS0tk 2) :mtg ma

(3) 28 woh (4) ﬁ@‘;ﬂf

199. International Press Freedom Award 2016 has gecﬁeﬁtinferred to Malini Subrahmanyam fo

her work in the following place & u::_
(1) Bastar (2) Balimela _ (3‘] Srinagar (4) Jafna

SrOR Lopdspgoy & 1508 @aéoﬁﬁﬁ: 355 H8 mH wodTdH BY @E

oz 2016 @edo DI, T
(1) =86 Q) oo ') () 366 @) =

2016

recently in news because of
(2) Corpse of Stalin
Terrorist attack

200. The Renkoji temple situated _ii'n:.]aphn was
(1) Earth Quake & ,,_

(3) Ashesof Netha#\r (4)

2>NS* o B2 ," aﬁ:n aéﬁa’w TES8 oIFR8 o 58800

Y () wrdodo | (2) OS5 Hoysdso

(3) ded e S40) 4) &Eca
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